Equal 9 step grey scaling betweeb* g;n=18 & L*gaw=135.1,Yye=200, normalisation whiteW

L*0anF18.3,L%0a=76.7,L*0aw=135.1,Yoan=2.0, Yoa=54.3, Yoan=200.0,Coav=Yoaw: Yoan=100.0
L*tan=100.4,L*15=111.0,L*a0=135.1,Yian=101.0,Yia=127.1, Yian=200.0,Cay=Yiaw: Yian=2.0
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 BL* min] / [AL* max], L* TusrGB,w = 100 [Y/Yy]YIN(10) with Y >= 0,39 = 100/255Y,=100

9= 99, g'g= 99 g%= 25, g¥y= 17 9’= 38, g'g= 26
L* tuBsrGB,w intended output real output linearized output
n0.i L*0a L*Or YOa YOr : L*a Al*a L*r Yta (L*r) 275 *a Al*a
140+ |
Og 1351 1.0 2000 1.0: 1351 1.0 2000 1.0 135.1
: 7.0 2.7
8 1205 0.875 153.7 0.766 128.1 0.797 176.8 0.921 132.4
: 6.4 2.9
105+ 7 1059 075 1141 0.566 121.7 0.612 157.1 0.836 129.4
: 5.7 3.1
6 91.3 0625 811 0.399 115.9 0.447 1405 0.746 126.3
: 4.9 3.4
@5 767 05 543 0264 1110 0.304 127.1  0.649 122.9
70 3 4.1 36
.4 62.1 0.375 33.4 0.158 106.9 0.187 116.7 0.544 119.3
1 3.1 4.0
.3 475 025 18.0 0.081 103.8 0.097 109.0 0.429 115.3
: 2.1 4.6
35T @2 329 0125 77 0020 1017 0.035 103.9  0.297 110.7
: 1.2 10.3
.1 183 00 20 00 : 1004 0.0 101.0 0.0 100.4
o~ 3 YoartY,
Al*o=14.6  (i=1,2,...,8) : normalisation: Ygjw=Yoaw, 22l [0ref
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